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20 o 159 42 () SHE(EE) 159 48 (FA) SUE(EA)
=N = =N s = sz =4 s

A 1,404,759 256,163] -6.9 0.4 4,737,120 882,685 -96| -3.1

1 |HIEY 266,740 30,089 0.3 0.2 813,724 94,884 22| -1.6
2 |&= 209,803 30,944 -11.4 1.5 701,924 98,728 | —-13.1 -9.2
3 o= 121,946 25,674 -2.1 7.3 458,960 97,281 0.1 11.3
4 |2z Alof 116,539 14,087 -5.7| -10.6 406,718 50,806 | -10.7 | -10.3
5 [¢& 75,457 9,326] -6.4| -0.8 268,186 34,988 | -14.0| -7.0
6 |[E3 60,460 6,880 -0.1 15.5 187,038 20,591 -8.5| -4.8
7 |otEHolo|z2|E dgt 45,943 6,864 6.2 2.3 148,283 21,497 -3.4 | -10.5
8 |E{7 27,251 6,754] -13.0| -10.5 95,591 24,084 -42| -0.4
9 |gelH 26,562 4,938] -10.3| -13.4 98,385 18,599 -9.2| -10.3
10 |Z=Clo} 26,135 7,265 6.5| -5.4 90,196 23,248 1.5 -15.3
11 |22t A 22,719 3,075 1.0 141 70,615 10,760 -0.1 2.6
12 |AFClot2td| ot 22,478 2,999 -28.4 | -23.4 71,927 9,801 | 26.8| -15.6
13 |5 21,735 6,934] -14.8| -5.8 72,761 24,797 | -25.9| -16.1
14 |o|Ez|of} 19,802 6,187} -17.1 11.5 67,888 22,314 | -17.0 4.6
15 |Ei= 17,256 4,182 -5.9 5.5 66,442 15,747 -4.0| 11.6
16 |o|Qkot 16,108 1,151 10.3 3.5 42,103 3,300 -6.8 3.0
17 [l =(elc|o}) 15,552 6,284 12.6| 11.4 49,878 19,956 6.7 2.9
18 |HAI= 15,358 3,198] 12.8| 13.4 49,957 10,794 55| 14.2
19 |Z2fA 14,499 2,820] -29.4| 15.8 51,880 8,922 | -26.6| -6.1
20 |CHet 14,281 2,642) -12.2| -15.9 51,033 9,928 -7.1 -2.5
21 |d9= 14,042 4,596] -17.9 5.2 50,260 15,210 | -22.6 | -17.1
22 |Amel 12,653 3,021} -7.1 0.4 42,087 11,387 | -12.4 3.6
23 |2 Alot 11,446 2,915] -38.6 | -25.3 40,552 11,358 | -36.0 | -11.0
24 |=221& 11,129 3,083 -21.9| -7.5 38,959 10,843 | -155| -1.8
25 |Zao[Alof 11,087 4,759 -19.9| -14.3 42 565 19,762 0.7 17.1
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29 e :;1551 48 (Ed) _ fo??‘% %F%E)t :O'H15Ld 42 (=A) _ fﬁ%(%ﬁla)t I—’F%.' H?F(fﬁl)

= N == = N == =N =g =M e 144 154

A 1,150,322 159,138 -2.4 4.0 4,570,425 559,660 2.1 4.7 8.37 8.17

1 |52 553,658 82,731 -3.4 3.9 2,022,337 279,533 1.3 6.5 7.60 7.23
2 |HIEY 180,082 20,855 2.2 9.5 834,371 75,661 7.3 6.8 10.98 11.03
3 |[elz=d Alo} 61,088 10,600 -6.8 5.1 256,035 37,591 -3.1 -1.6 6.92 6.81
4 |el=(elc|o}) 37,807 9,980 13.5| 29.4 143,538 36,569 13.1 22.5 4.25 3.93
5 |o|Qfao} 34,278 1,517 6.6 7.2 135,003 5,253 3.4 5.1 26.11 25.70
6 (2= 33,428 6,430 -9.5 6.3 126,641 22,021 -6.9 3.7 6.40 5.75
7 |o|Et2|ot 33,004 554 -6.3| -16.7 173,963 2,229 32| 19.4 90.30 78.05
8 |ol= 28,042 3,064 2.4 -2.3 111,035 10,983 -6.8| -11.3 9.62 10.11
e ER 20,946 1,527 14.9 11.3 84,328 5,419 22.3 15.4 14.69 15.56
10 (=& 20,872 207 2.1 39.4 80,862 579 -8.4| 31.6 200.59 | 139.61
11 |Ei= 17,082 3,775 | -27.6| -18.7 76,976 17,556 -96| -1.3 4.79 4.38
12 |ZEC|of 13,934 557 | -15.6| -13.5 51,117 1,899 18.6 | 15.5 26.20 26.92
13 |ZF| AEL 12,916 3,239 3.1 5.3 45,539 11,048 -16| -2.0 4.10 412
14 |[22f|o|Alo} 11,059 5,044 | -33.5| —-28.4 43,716 19,635 | -24.5| -20.6 2.34 2.23
15 |CHEt 10,435 2,291 -7 -6.3 40,664 8,502 -5.4| -95 4.57 4.78
16 |22/ 9,729 616 19.5 -2.8 38,857 2,471 15.2 11.7 15.24 15.72
17 |54 6,386 487 | -22.6| -20.0 26,797 2,087 -7.4 6.4 14.77 12.84
18 |E{7| 6,346 355 8.8 179.3 27,807 1,311 11.7 | 142.2 45.98 21.21
19 |2amH el 5,660 137 17.0 -6.7 20,448 367 0.8 —-12.2 48.47 55.69
20 |2AER|of 5,166 1,953 33.7| 471 19,503 6,980 8.7| 19.3 3.07 2.79
21 |9+ 5,119 329 15.4 | 48.3 20,476 1,230 11.2| 25.8 18.83 16.65
22 | A2} 4,565 478 -0.9 49.4 17,816 1,498 1.0 11.7 11.97 11.89
23 (a9 4,239 122 341 89.4 14,886 405 31.3| 70.0 47.59 36.76
24 |ZEFZL 3,447 68 40| 29.4 16,451 296 12.1 56.9 77.72 55.53
25 |WHEHZE 2,421 142 | -18.4| -10.5 12,670 712 8.0 9.8 18.10 17.80




